(1) and (2):

(d) C is invertible.

$$C^{-1} = B^{-1}(B^t)^{-1} = \begin{bmatrix} 3 & -1 & -2 & 0 \\ -1 & 1 & 1 & 0 \\ -2 & 1 & 2 & 0 \\ 0 & 0 & 0 & 1 \end{bmatrix}.$$

(e) i. One appropriate choice for D̃ is given by D̃ = (B + √2I₄)B. For such a D̃, it happens that DD̃ = (B - √2I₄)(B + √2I₄)B = B³ - 2B.
ii. D is invertible.

$$D^{-1} = -\widetilde{D} = -(B + \sqrt{2}I_4)B = \begin{bmatrix} -1 - \sqrt{2} & -1 & -1 - \sqrt{2} & 0\\ 0 & -2 + \sqrt{2} & 1 - \sqrt{2} & 0\\ 0 & 1 - \sqrt{2} & -1 & 0\\ 0 & 0 & 0 & -1 - \sqrt{2} \end{bmatrix}.$$

12. (a) i. A is invertible, and its matrix inverse is given by ¹/_cA⁴ - ⁴/_cA².
ii. cI + 4A³ invertible, and its matrix inverse is given by -⁴/_{c²}A³ + ¹⁶/_{c²}A + ¹/_cI.
(b) When c = 0, A is not invertible.

- 13. (a)
 - (b) i. One possible choice of counter-examples is to take $A = B = C = D = I_2$.

ii. One possible choice of counter-examples is to take
$$A = \begin{bmatrix} 1 & 0 \\ 0 & 0 \end{bmatrix}$$
, $B = \begin{bmatrix} 0 & 0 \\ 1 & 0 \end{bmatrix}$, $C = \begin{bmatrix} 0 & 1 \\ 0 & 0 \end{bmatrix}$, $D = \begin{bmatrix} 0 & 0 \\ 0 & 1 \end{bmatrix}$.

14. ——

15. ——